OO0000TA:ODO

20040 10 40

00000000 A, BODOODODOODOOODOODODOODOODOODODOO A, BDODODO
0z4,zp000000000/0000000000 A0 za(t)=acoswt0000000O0OOOO
OO¢>>e000000000000O00O0ODOOOODOMDOOOOO

()00 ;OO0 AOODOOO0O0O0OO0O0O0DO0O0O0UO0O0O0O0O0 v, 0ODODO0OODOOOOODO
000 A0D00OOODODODDOOODOOOOOOO0O0O0OOoOoo

(2) 0000000 BUOOUOOOOOOOOOODOOD ADOUOUOO 0 te4,v, 0000

(3)000000000000000000000000000O00O0OO0

v = V1 — 2aw sin wt,
tz = tl + 26/1)2

(4)00000000000000O00O0O0O

9n+1 - en + In+17
L1 = I, + K sind,

0000000000000 000D0D0KOODDODDODoDoooooooooooooooooool,e
000 (mod2r) D0D0D0O00OU0OO0DOOOKOOODDODOODOUDOODOOOOO

(5)K0O000000U,,6,) 0 plot000000000000000000000O0000000
D00<K<30000O

(6) 12000 <[?>000000000000000000000000<..>00000000
ggoooogd



